Quiz 2
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Show all your work algebraically for each and simplify. No credit is given without supportmg

work. There are two sides to this quiz.

1. Let the following piece-wise defined graph be the graph of g.
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(a) [2] (81.3) Is g an even function? Why or why not?
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(b) [1] (81.1 #2 ) What is g(0 L/\P—C\Q\N\dt\\)f\
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{c) 2] (§1.1 #6) What is thé rag Sg‘e of g7
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= g(z) + 1, graph m.
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(d) [1] (81.3 #1) If m(z)



2. {§1.2 #11) Let f be a function whose domain is the set of five numbers {—2.-1.0.1.2}

and whose values are defined by the following table:
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(a) [2] Graph f on the axes below.

(b) [2] (§1.1 434 & §1.4 # 11) Let k(z) = z + 2. Find (ko f)(0).
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